Transition Metals,

Polyatomic ions and 

Chemical formulas.

The transition metals are the block of metals in the middle of the P. table that don’t belong to any of the families.

These metals can often have several oxidation numbers, which gives them different properties.

Example: Iron (II) & Iron (III)

+2Fe  & +3Fe: Both are iron but have different oxidations.

When transition metals form ionic compounds Roman numbers are used in the name to indicate the oxidation.

Example: Iron (III) Chloride: formula??




FeCl3 (the roman number is the oxidation)

FeCl2:  Name??

Iron (II) Chloride

Polyatomic ions: Are covalently bonded compounds that stay together as ions when they react.

Example:

Na +  OH (    +1NaOH-1

Stays together before and after reaction and called Hydroxide (Ox. # = -1)

When writing formulas with polyatomic ions you “cross” the oxidations as subscripts.

Example:  +2Ca (OH-1)2 : Name??




    Calcium Hydroxide

When you need more than one polyatomic in the formula you need to use parentheses.

The Polyatomic Ions that you will need to know are:

Phosphate: PO4-3

Acetate: C2H3O2-1
Hydroxide: OH-1
Sulfate: SO4-2
Nitrate: NO3-1
Carbonate: CO3-2
Ammonium: NH4+1

Name the following:

Na3PO4
Mg(C2H3O2)2
Sr(OH)2
Al2(SO4)3
Give the formulas for the following:

Calcium Nitrate

Ammonium Phosphate

Thallium Acetate

Boron Carbonate
Nickel (V) Sulfate
